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1. BUTBERBTHEEELE 2 class switch 82 V(D)) EEAEAY LLAETE TRRE ©
A.. BT RAGS;

B, EHZLETE antigen stimulation 2 8;
C. EBEL antibody diversity FFeE;
D. DAERFE-

2. THH—EREEAEN BN (phagocyte) BY—FE:

A. neutrophil;
B. NKcell;

C. mast cell;
D. platelet -

3. M- EBRRA SRR R RIENEE ¢
A. adjuvant;

B. immunization route;
C. sleeping;
D. antigen dose °

4. TSR T 2EERTE (innate immunity) 495 S ¢

A, mucus;

B. proteasome;
C. defensin;

D. normalflora -

5. THUG-EEMEINSHEAZIETES (monocional antibody)

A, ELISA;

B. FACS;

C: western blot;
D. DIEEFE-

6. Elie Metchinikoff (1845-1916), a Russian zoologist and bacteriologist in France is Nobel Prize winner for
Medicine in 1908. He observed that a sharp introduced into a body of starfish larva was soon'surrounde.cl by
some mobile cells which were able to ingest the invading microorganisms. The mabile cells are likely to be__
which is against a pathogean,

A. B cells, specific
B. Phagocytes, specific
C.  Tcells, nonspecific
D. Phagocytes, nonspecific
7. Infection of young teenagers with Epstein Barr virus {EBV) develops a disease called monontcleosis. In this

disease, lymph nodes swell painfully as our immune system produces large numbers of lymphocytes to
eliminate virus-producing cells. These lymphocytes are probably: (2 43+)

A. B cells which produce antibody eliminating virus-infected cells

B. Cytotoxic T cells to destroy virus-containing cells

C. Helper T cells which stimufate & cell clonal selection
D.  @Granulocytes which invade areas of virus production
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8. ifa B cell clone began to produce antibody with altered binding strength and specificity for antigen, you

would expect the mutation of the antibody gene to involve: (2 43)
A. The CDR3 of the heavy chain or the constant region of the light chain

B. The CDR3 of the light chain or the constant region of the heavy chain
C. The CDRS3 of the light or heavy chains
D

The constant regions of the light or heavy chains

9. The epitope is defined as the part of the antigen that is recognized by antibody. The structural studies using
hen egg white lysozyme as an antigen show that the epitope is: (2 43)
A. asingle amino acid
B. continuous, or limited to a single stretch of amino amds
C. discontinuous, or can include amino acids from non-adjacent stretches of
antigen amino acids ‘
D. the entire antigen
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10. The significance of the major histocompatibility complex {MHC) in the immune response:
A. Serves to minimize autoimmunity or “self-reactivity” of the immune system
B, Serves to present fragments of antigens to T cells

€. Used by helper T cells to regulate the expansion of antibody producmg B ceils
D. Accepts organ transplantatlon

11. A variety of germs-carry molecular patterns (also called pathogen associated molecular pattern, PAMP)
which can be recognized by the immune system. Which ones of the followings are correct?

A. PAMPs are ligands for both 1L-1R and Toll-like receptors (TLRs). ’

B. Ligation of PAMP 1o corresponding receptor activates NF-x8 signaling pathway

C. Ligation of PAMP to corresponding receptor activates iL-2 production.

D. Receptors for PAMPs are highly diversified.

E. Receptors for PAMPs are rion-clonal and germ-line encoded.

12. What outcome consequences would be predicted for tumors that lose expressmn of all MHC class !
molecules in experimental animal studies?

. A. Regression of transplanted tumors in normal mice
8. Growth of transplanted tumars in normal mice
C. Highly sensitive to natural killer cells in nermal mice
~ D. Transfection of MHC Class | genes can restore resistance to NK cells.
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1. neutrophil
2.CD25

3.IL-6

4. chemokines

5. opsonization
6. flow cytometry
7. thymus
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8. tolerance -
9. apoptosis

_10. Class switch '

- (1) What cefls should be harvested from the cord blood to best treat pat:ents with blood dlseases? (141
A. Erythracytes (red blood cells)
B. Leukocytes (granulocytes, monocytes and Iymphocytes)
C. Stemcells

(2} Why the cells can treat the patlent’r’ Please discuss. (2 4)

2. (1) What does the clonal selection theory of antibody diversity say? {3 43)
(2) Please explain why humans have the ability to produce billions of different antibodies which bind a wide
. array of antigens (2 43)7

3, SEEEMAMRDTEAMRIHE MHC class || SRR EHAEEZ4HIE (dendritic cell) BYZRM - (5 47)
4. TEEHL=7E5|HHE (complement) iﬁﬂﬁﬁﬁ%{:& {5 53)

5. DA TR T » ERIE SRR - R EAREL AR 2
BT EASBIIAEY¢ (inflammation) T - DI RETRIVBIAIUENRE - 52)

6. SHEE THIERIEEIIEE : DARIE(Small pox)iF 5 ORI B — (R B  (HR
FARETennen) BT 5 AR5 (cow pox) 8 W DA FUTEDT R AEROE LR » AR AERUEER 1980 F£5
FRTEAE - SRR B A S TR RIE 2 6 4912 BSREEREART MRS AL »
(RSB R R o R (killed vims vaccmﬁ)ﬁ%ﬁﬁf“‘%‘ (attenuated virus vaccme) ? SR
HEEEEEERN? G 3)

7. E%iﬁ%%ﬂ‘jﬁﬁé&%%r ﬁ%ﬁﬁ@%”i@ﬁ%ﬁEﬂﬁ(hyperscnsmwty) EBZ%ET“ %ﬁﬁﬂﬁﬁf&:@fﬁ
TR SIERO R RS - (10 )
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